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ECONOMICS
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Match the following :
List I List II

(a) Revealed Preference Theory (i) Karl Marx
(b) Surplus Value (i) Paul Sweezy
() Kinked Demand Curve (iii) P.A. Samuelson
(d) Point of Constrained Bliss (iv) Adam Smith
(v) A. Bergson
Code :
(@ (b) (o) (d)
@ O (v G G
® (v O @ (i)
© & ) ) 0
D) ) O @)
2. The goods which are non-rival in consumption are called :
(A) Private goods (B) Free goods
(C) Public goods (D) Non-economic goods
3. A competitive firm achieves long-run equilibrium in the product market when :
(A) AR = MR (B) MR = AC
(C©) MR = MC (D) Price = AR
4.  In the Sweezy model of Oligopoly, an increase in demand will make upper portion of
the demand curve :
(A) More elastic (B) Less elastic
(C) Unitary elastic (D) None of the above
5.  The statement that the compensation principle of welfare economics is capable of giving
contradictory results is associated with the name of :
(A) T. Scitovsky (B) A. Pareto
(C) A. Bergson (D) P.A. Samuelson

6.  Which of the following factors does not stall the entry of other firms in an Oligopolistic
industry :
(A) huge advertising expenditure incurred by existing firms
(B) economies of scale
(C) technology
(D) increase in demand

D —-0105 2
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g —11
A : T TS | e (50) 9g-fahedia ue ¥ 1 Ue U % & (2) 3ok &1 el el o I
T
1. ﬁﬁmz
g 1 g 11
(a) wfed stfemm fagr=a ()  hTed He
(b) Al g (i) T EAIS
(c) Togfea (fhewg)win o (i) T e
(d) [ e fag (iv) TeH fmy
(v) T e
g
@@ () (9 (d)
(A) @ (v) (@) (i)
(B) @v) (@) @) (i)
Q) (v () @) (@)
(D) @) @@ G (v)

2. wsﬂwaﬁﬁwmaﬁaﬁaﬁm%

(A) Tl el (B) Tk =&l
(C) wESIe Iy (D) TR efeier gy

3. 9 s yfadntt wH, ScareH ook B <rEhTele W 9 Hdt § ad
(A) AR = MR (B) MR = AC (C) MR = MC (D) & = AR

4. SIUITYHR o WSl ATSA o 3T=<id, 7T H ghg , | a5k o HUA 9T ol SR ¢
(A) AfH dARR (B) Y WRR
(C) UHIEH TAEER (D) IHH § HE T

5. 9% %A foh et sefemre o arfagfd fagra foliedt frend S TRl €, TR T A J1 R
(A) 3. fodEent (B) TUA  (C) T A (D) WU, g

6. T1=1 § ¥ S &b, Teh ACUMHHN ST B, 311 HHT & FAY I AT & ha :
(A) IdHE FHI g R fomre = (B) TmM =t T
(C) TSI (D) wH gfg
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10.

11.

12.

13.

14.

A rational consumer choosing between uncertain events will make a choice on the
basis of :

(A) expected monetary benefits (B) expected utility
(C) expected prices (D) expected incomes in future

Which of the following is not an element of selling cost :
(A) salary of the salesmen (B) expenses incurred in advertising
(C) transportation cost (D) costs incurred on window displays

The most comprehensive measure of the aggregate price level is the :
(A) consumer price index (B) producer price index
(C) GNP deflator (D) wholesale price index

Keynesian economics lays more emphasis on :
(A) monetary policy (B) fiscal policy
(C) interest-rate determination (D) free market mechanism

High-powered money is produced by :
(A) Commercial banks (B) Co-operative banks
(C) Ministry of Finance (D) Reserve Bank of India

A person who left the job to find another job would be classified as :
(A) fractionally unemployed

(B) structurally unemployed

(C) cyclically unemployed

(D) no longer in the labour force

Which of the following statements would Milton Friedman disagree with ?

(A) Monetary policy has few short-run effects on the real economy

(B) In the long-run, changes in the money supply primarily affect the price level

(C) There is little scope for using monetary policy actively to smooth out business
cycles

(D) The Reserve Bank can not be relied on to effectively smooth out business cycles

The money multiplier is the multiplicative inverse of the required reserve ratio as long
as :

(A) currency leakages into circulation and/or foreign markets do not occur
(B) banks do not maintain excess reserves
(

C) the required reserve ratio is far in excess of the reserves that banks think are
prudent given the deposits that they hold

(D) all the above

D —-0105 4



10.

11.

12.

13.

14.

siffead gl o Ste =RF S ol Tk faeRqul ITHE, SO =h9 4 ¢
(A) oTafeq Hifges a1l & MR W (B)  STUfad ST % SMER W

(C) 3TUfea iHdl o SR | (D) wfass # s7uferd Al o SMER W
=1 o 9 %, fasha T 1 o 7E 2

(A) faskaerdl o1 daq (B) Tomm™ W 3 a1 ==

(C) AT T (D) §WH 9e¥H (window displays) T =

T oI TR 1 Gaifesh 9% A9 §

(A) SUFH HoA Geehich (B) S Hed Heehich
(C) ehed TEA Q. STERIAH (D) ik Hed geehich
I T AL AfF I T

(A) Tifges ifd W (B) SIS fifd W

(C) = & Feir w (D) Y SR TATF=E T
ST T o IARH ©

(A) IRE S (B) WEHN &

(C) fax wae™ (D) TS d e sfean
T SAfH SN 3T B TR & fold, FH DS e a8 ®

(A) AT T G ISR (B) HEHAHS &Y ¥ SUSAIR
(C) <A €9 H SISFIR (D) =9 oI | wfsfera T8

=1 § 9 ford e | fiice WieHA o1eHq g 2

(A) aTEdforh 31 e T Hifge i & dIS & STTuhiei Y9 B ¢ |

(B) Rt H, HgT i Sgfd H ufedd mefieey Heo w1 guifad s © |

(C) ATIR =gkl <l TTSRTOT (smooth) ¥ B, Hifger =ifd & aferar su=m & forar wifa & T

(D) ATIR =shi ol FHTET & | FTR101 (smooth) T o forl Retd sfep o fergams =& fopan s
kel |

T[T TUTeh Sifed hIT STUIT ol [UMFTHS Fidc™ qeft deh © el deh o :

(A) T 3R /steran fadeft o § qe1 e 7@ g ©

(B) e eIl v & W ¥

(C) aifed ¥ ST, 37 W & SAQ1 ¢ 9 S ST ST1sil o STMER T wa1 fererhyut
I |

(D) IHE |l
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15.

16.

17.

18.

19.

20.

21.

22,

23.

The trade-off between inflation and unemployment remains stable only :
(A) during periods of stagflation

(B) when the inertial rate of inflation remain unchanged
(C) during the periods of slack demand

(D) in the long-run

Vicious Circle of Poverty was proposed by :

(A) A. Marshall (B) J.M. Keynes

(C) Ragner Nurkse (D) M. Friedman

Second Five Year plan was based on a model developed by :
(A) C.H. Hanumantha Rao (B) P.C. Mahalanobis
(C) ALK Sen (D) K.N. Raj

The theory of unlimited supply of labour was proposed by :
(A) J.M. Keynes (B) Robert Solo
(C) A. Lewis (D) Roy Harrod

In Harrod-Domar model, if the growth rate of income is 5% and capital-output ratio is
3, then saving rate must be :

(A) 5% (B) 3% (C) 8% (D) 15%

Capital per person decreases if net investment per person :
(A) is less than the population growth rate

(B) exceeds the population growth rate

(C) exceeds savings per person

(D) is less than savings per person

In the neo-classical growth model, an increase in the marginal propensity to save :
(A) increases steady-state output per person

(B) increases the steady-state growth rate of output

(C) increases steady-state capital per person

(D) both (A) and (C)

The Tenth Five Year Plan aims at reducing poverty by :
(A) 2% B) 5% ) 8% (D) 9%

Union Excise Duties are a part of Central Government'’s :
(A) Non-tax Revenue (B) Tax revenue
(C) Capital receipts (D) None of the above

D —-0105 6



15.

16.

17.

18.

19.

20.

21.

22.

23.

ST JER G IS & o STGal-agal (trade-off) Feer @&t ©
(A) T RAYH FI A F SR (B) e HgT YUR i 3TehHU T 3Tufafdd Tt §
(C) ¥ T &l T4y & IRA (D) <reehral §

‘Tl ST g ' fadTtea foRam o ¢

(A) T ARE EN (B) S.UA. ®IH N
(C) TR Tehdlt gN (D) TH. TIEH g1
fgditar daardia ars fohees g faesfaa Ared W oTenia off ?
(A) HTa. TTHEE (B) HI.E. wRIARIE
(C) T O (D) H.T. T
srefifha =@ qfd foagr wfawfead feran e o

(A) SLUH. 6 5F (B) Vel A 5N
(C) T, aifow gm (D) TIHEFM

Te-SMR AT & 3T A 3T ot Ifg 5% T IR Yol Seure 19 3% < d =d < et
(A) 5% (B) 3% (C) 8% (D) 15%

et st %m @ S § Wi st free fafw -
(A) STHEN I RAFAT (B) <HEEn gfg ¥ wifiw €
(C) ufd =afe ==l | eiferen ® (D) fd =afs =l & w9 T

- qEre fae Ared |, W= o= ygfd § 9fg
(A) 9fi =i feor sraen Seared § gfs wwdt §

(B) Teor srawen ScareA fae X H Ifg wll ©

(C) ufa =afe feer-steren gt & gfg &t ©

(D) (A) 3T (C) S

<] d=erdta ISl § TS SeM ol A8 ©
(A) 2% (B) 5% (C) 8% (D) 9%

FEId 3CUTE Yok YT &, i TR &
(A) R IATH (B) H AT H
(C) gsft wfeii & (D) 3IW® H § HIE Tl
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24.

25.

26.

27.

28.

29.

30.

‘Pump priming’ should be resorted to at a time of :

(A) Inflation (B) Deflation
(C) Reflation (D) None of the above
VAT is imposed :

(A) on final stage of production
(B) on first stage of production
(C

(D

) directly on consumers

) at every stage between production and consumption
A temporary increase in marginal tax rate will :

(A) increase employment (B) increase output

(C) raise the deficit (D) lower output

Tax on inherited property is an example of :

(A) Sales Tax (B) Income Tax (C) Wealth Tax

When government expenditure exceeds total government receipts, the budget deficit

is :

(A) positive (B) negative (C) zero

The Laffer curve demonstrates the relationship between :
(A) inflation and the nominal interest rate

(B) tax rate and total tax revenues
(C

(D

) the real interest rate and investment demand
)

none of the above

If the Rupees per US Dollar exchange rate changes from Rs. 44 to Rs. 46 in a year by the

market forces, it implies :

(A) Appreciation of the Rupee
B) Depreciation of the Rupee
Devaluation of the Rupee

Exchange rate remains more or less the same

indeterminate



24. ‘S =M’ (Pump priming) EIREIRERISIEIRCIEE
(A) &1 89X % GHY (B) gl W= & 9
(C) YUIYER & §FI (D) 3WH H | HE T

25. 9 (VAT) ST ST &
(A) STRA o AfaH =[O W) (B) ST o YUH TO T
(C) g IdrHsti W (D) SCUEH ql JUHI o =i Ydish =0 W

26. I H-SU I TR fg
(A) ISR H ghg et (B) e H gfg syt
(C) I I FERAT (D) 3creH | wHT Ol

27. SAUTHHR B U 7 W T ST T
(A) forsnt ST (B) STE&RI Kl (C) G T <hl (D) @ (VAT) =l

28. STel WK I A4, SHh! Pl WGl sk B STl &, ol o1 =el B |
(A) TS (B) SRUTcHeh Q) I (D) eifuifa

29. TIFL ok TEY YR Rl ©

A) & J9R 3R A (nominal) ST X % &4
B) h-SLAYUl Hel 3 HLh Sl
STifeeh ST S a1 faf=imT | & st

U H 9 g TEl

~—"

(
(
(©
(D)

30. SR el g1 fohedt wh o 8, T3 ot fafma R Ul 908, SR ¥ 44 9 ufEfia e
T. 46 T S S| THH AIA T

(A) F9 & T Jis (B) &9 I Y BH
(C) & 1 T (D) fafe &t < @ o7 =it §
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31.

32.

33.

34.

35.

36.

37.

38.

Match the following :
List I List II

(a) Infant Industry Argument (i) Adam Smith
(b) Factor price equalization theorem (i) G. Von Haberler
(c) Opportunity Cost Theory (iii) Fredriek List
(d) Asolute cost advantage (iv) Heckscher Ohlin
(v) D. Ricardo
Code :
@@ (b) (o) (d)
(A) @ (v) (D) (i)
B @ @ @ @)
(© @) @Gv) @) @)
(D) Gv) (@) @) ()

Devaluation, other things remaining the same, will make the balance of payments of a
country worse if the elasticity of exports and elasticity of imports of a developing country
will be :

(A) greater than1 (B) less than1 (C) equaltol (D) none oftheabove

The secular deterioration of terms of trade hypothesis initially was advanced by :
(A) Raul Previsch (B) J.M. Keynes (C) Adam Smith (D) J.S. Mill

The Bretton-woods system finally collapsed at the global level in the year :
(A) 1970 (B) 1971 (C) 1972 (D) 1973

Heckscher Ohlin theory of international trade explains the emergence of trade, among
the partners based on :

(A) Intra-regional trade (B) Imperfect competition
(C) Inter-regional trade (D) Changes in tastes and technology

According to Planning Commission estimates of poverty ratio in India in (1999-2000)
was :

A) 30 percent B) 40 percent
p p
(C) 26.9 percent (D) 28.9 percent

New Agricultural Strategy (Green Revolution) was introduced in India in the year :
(A) 1969 (B) 1966 (©) 1970 (D) 1960

Which among the following heads has the highest allocation in the Xth plan outlay ?
(A) Energy (B) Transport
(C) Rural Development (D) Social Services

D —-0105 10



31.

32.

33.

34.

35.

36.

37.

38.

(
(
(
(

ST, 3T a1 T T T, FRE S0 % I Ger ol 9gaR R S, Al STaedd sl
9 % ATl qen fatdt @t e

(A) TH T 3fe T (B) THIFAE

(C) THF TR T (D) WG § ¥ HIE Tl

TR Il H <RI H B hi HhodH ohl Feiged U&Id fehar o
(A) & gferwr = (B) SWH. &I (C) TeHAfmaA (D) Siud. e

SeTged e, fava T W, 3iftH 9 ¥ % 8 . o ¢
(A) 1970 & (B) 1971 (C) 1972 (D) 1973 ®

STRIPIT SATIR 1 =R~ 2Tefer, fagra wriier 29 § =R & enfaie i amema § fSaem
MR T

(A) 3q: & AR (B)  TqUi wfcirft

(C) =R & =R (D) &9 T TSt § aferdd
ST SN o STIER, YR | (1999-2000) T ST I STTHA o :
(A) 30 gfeer (B) 40 gfera

(C)  26.9 wfdwrd (D) 28.9 wfderd

AR | el T WAt (BRA shifd) <] <l 7T off
(A) a9 1969 H (B) a9 1966 H (C) =¥ 1970 § (D) a9 1960 |

Freifera & fope &1 o1 <ol Ao 99 § Gaifees Sfisied fohan T €
(A) el (B) ufed  (C) wrHiu foreRd (D) IS Hamd

D —-0105 11 P.T.O.



39.

40.

41.

42,

43.

44.

45.

46.

New Economic Policy in India was introduced in :
(A) 1981 (B) 1971 (©) 1991 (D) 2001

Gross Capital Formation percentage of Gross Domestic Products as per Economic Survey
in 1995-98 was :

(A) 21 percent (B) 30 percent
(C) 24 percent (D) 28.7 percent

The target of Disinvestment in Public Sector undertakings in India during the 2002-
2003 was :

(A) Rs. 16,000 Crores (B) Rs. 20,000 Crores
(C) Rs. 12,000 Crores (D) Rs. 15,000 Crores

Domestic Savings Rate during the IX plan period was :
(A) 23.31% (B) 30.31% (C) 25.31% (D) 26.41%

Money supply in terms of broad money (M) in India increased during 2001-02 by :
(A) 6.8% (B) 5.6% (C) 14.2% (D) 19.3%

Based on a sample of 100 observations, the correlation coefficient between x and y is
found to be nearly zero. Then,

(A) x and y are definitely unrelated
(B) x and y are linearly related to each other

(C) x and y may be non-linearly related to each other
(D) there is spurious correlation between x and y

Under simple random sampling, as the size of sample is increased :
(A) systematic errors increase but sampling errors decrease

(B) systematic errors decrease but sampling errors increase

(©)

(D)

both systematic and sampling errors decrease

both systematic and sampling errors increase

Implicit GDP deflator is a :

(A) current year weighted index
B) Dbase year weighted index
arithmetic mean of (A) and (B)

geometric mean of (A) and (B)

D —-0105 12



39.

40.

41.

42.

43.

44.

45.

46.

IRA 7S STk Hifd TR ot T off
(A) 1981 H (B) 1971 H (C) 1991 ® (D) 2001 ®

3o TelaTuT o STTHR 1995-98 ot 3TafY H Hehal Be] IS 1 Hehel Goit fofor ferera fe
gl .

(A) 21 gfqerd (B) 30 gfderd (C) 24 gfqerd (D) 28.7 faerd
ARd | 2002-2003 =¥ o forar fafes <61 @ea on

(A) . 16,000 S (B) % 20,000 S

(C) % 12,000 S (D) % 15,000 S

et gerersi AISHI i STafy H Bie] a=d aT off :
(A) 23.31 9fawra (B) 30.31 9fawrd
(C) 25.31 gfaerd (D) 26.41 gfawrd

TEE T4 (M) i WA | a9 2001-02 ¥ Yfd § f=iferd gfg g2
(A) 6.8 gfaerd (B) 5.6 Hfasrd (C) 14.2 gfderd (D) 19.3 gfaerd

100 Y&T0 % Uk Gfaeel & YR W x IR y & T TEHaY U I & T qI
T/

A) x 3Ry Fifeaa &9 § erdafua ¥
B) x 3Ry & A W Hey
C) x 3Ry & 7eA TR R-GT ot & Fohehl 7 |

(
(
(
(D xaﬁwéwwﬁqwmﬁa%n

)
)

WA Agfeseh Yfaeam & ST=aid, STe Jiqget STy S S €, o

(A) ThiTaes Ffe 1 AT sgar § aferd gfaefiie I 1 aftmmr e g1
(B) emtfuek Ffei k1 afkmTor e § iferd Ufaeieier Jfedi o1 aiemor T 7 |
(C) emiforek qen wfaefier 1 Ffedi o1 aftemr e 2|

(D) eRITae qe SRR QM1 el o1 IRATT e 7 |

Hfeq Tehet =ie] SIS STHERE Il © :
(A) =Te] 99 WiRd ki (B) STHR Y R F=rhich
(C) (A) @1 (B) I HHIT HIEH (D) (A) 91 (B) I SHTHITT HIEA

D —-0105 13 P.T.O.



47. Events A and B are mutually exclusive consider the following :

(a)
(b)
(©)
(d)

> o

~ A~ o~ —~
=o'
S~—

P(AUB) = P(A) + P(B)
P(AuB) = P(A) x P(B)
P(ANB) =0

A and B are independent events.
Choose the correct code :

only (a) and (b) are true

(
(

only (a) and (c) are true

only (b) and (c) are true
c

only (c) and (d) are true

48. Random variable is :

an independent variable

an endogenous variable

a randomly choosen value

a function of states of nature

49. Consider the following distributions :

(a)
(©)

z-distribution (b) t-distribution

binomial distribution (d) F-distribution

Which among the above are not sampling distribution ?

(A)
(©

only (a) (B) only (c)
both (a) and (c) (D) Dboth (a) and (d)

50. Match the following :

SICIE

o~ o~ o~ o~
~ —

D —-0105

List I List II
To test for these We use the following :
population mean (i) t-distribution

with known variance

population mean (i) F-distribution
with unknown variance

comparison of variances (i) X distribution
goodness of a fit (iv) z-distribution
Code :

@@ (b)) (o) (d)

O @ @) @G)
() @G (v) (i)
) () () (i)
() () () (@)
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47.

48.

49.

50.

A T B TER A9aS ¥ ¢ | f=ifera W famm &

(a) P(AUB) = P(A) + P(B)
(b) P(AUB) = P(A) x P(B)
() PANB) =0
(d) AT B AIH H s HeA | e Fe g
(A) (a) 3R (b) & TF | (B) (b) 3R (c) & T )
Q) (c) 3R (d) T T T (D) (a) 3R (c) & 9 T
Irgfesh TE
(A) T W&a= =R (B) T 3AwIsiid =R
(C) Igfoseh&q 9 T T JoA (D) Yehid i STaeet 1 Hod
e foauon w foam i
(a) z-fereeom (b)  t-feror
(c) wmEAIHIA forom (d) F-faao
STU® H § i gfaaen forawor T&f § 2
(A) I (a) (B) I (c)
(©)  (a) T (b) I (D) (a) 7T (d) ST
frfafed # 7 Sy ¢
g 1 |hE 11
Ta A & fd T 1 T ST SR §
(a) Tofed g&o & wied (i)  t- form
THE q1ey
(b)  Aferfed gER0 & Hfed (i) F- foaao
THfte q1ey
(c) TERTN &l g (iii) X2 foraor
(d) T STEY Kl FHSH Gl (iv) z- fo@
Fe:
@@ () (o (d)
(A) (@) @) (i) (iv)
B) @@ @) (@v) (i)
Q @Gv) (@) @) (i)
(D) (@) (@) G (i)
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